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[ Physics : Section-A (Q. No. 1 t0 38) | 5 2 Sl e i zum
1 A bob is whirled in a horizontal plane by means 2ZINE
of a string with an initial speed of @ rpm. The | §  The graph Wh":"' shows the variation “r
tension in the string is T. If speed becomes 2 e & where
while 'I:uping the mﬂdiu&mtm!im in the md its kinetic encrgy, E:s-‘l : J:. Iiﬁ&
string becomes ; T mmf [ wnvrltﬂﬂhﬂflﬁ"ﬁ?‘nm &) :
- 5
1 ar
@) 47 @ L T?. 7 i ; 1
4 T 2
‘g & 4w 0 pmE
o P
2 A wire of length ‘I" and resistance 1000 is ‘L;:t "_-_IT;_.
divided into 10 equal parts. The first 5 phits are (3) ;‘, (4) 37
connected in, series while the next S parts are * T
connected in‘Farallel, The two combinations are 0 .
:'ﬂ?nm mii.:m:s. The resistance of this 6 Ifcisthe velocity of light i free space, the
10n 15: p statcments about photon among the |'||:i|h..q
(1) s0Q @ 60 G4 oo
l 3) s2q ) ssq \ g0 . Theenergy of a photon is E=hv_ "
' B. The velocity of a photon 15 ¢.

3 A thermodynamic system is taken through the v
cycle abeda. The work done by the gas along the C. The momentum of a photon, p=== —
path be is : D. In a photon-electron collision, """"1

P energy and total momMentum are consey
T E. Photon possesses positive charge. |
00 | c MMMW“HM“Ml
Ll &~V below -
E: : - h |
100 kPaf-- - - 16 : () A.B,DandEcaly ¥ =1 |
_j _It (2) AandB only FA |
100 400 e’ (3) A.B,Cand D only Ay
... E=t {4) A.CandD only =
(1) —60.J " (2) zemo
(3) 30J 4) ~90J 7 Themassofa planet is T‘-d.ﬂ'umaruum:
i A logic circuit provides the output ¥ as per the its dilmFter is half t'!'mt of the uﬂi_.I
following truth table : mlﬁmmnduemgnwnyon :huph1nuu-.
H —s CitaH'g.tHr- 392 ms™ {2) 196ms™=
AlBlY g-ﬂL 10 n (3) 98ms? (4) 49ms
0Djo |l : hl Inavcrnmcahptrs._tﬁ+ljdlumufﬂ
o1 |0 Mhmuwmcmﬁﬁdms.mﬁufﬂﬂ
101 . B 1 MSD represents 0.1 mm, the vemier
| o™ -lﬁﬂ k. Eﬁﬂﬂm‘.ﬁiS: , |
. ...‘ ot 1 |
ngﬂpressimfnrdlzmspull'u:- (I} 10(N+1) 2) ToN |
(1) &8 () B %’ @) i
ey 4) 100N
4y AT @ 3, s L wo(v+y Y e
&' XI0 G e 2 N-H?
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In an ideal transformer. the turns ratio is —,:rt =

|
[Ty 2

The ratic Vit b, is Gﬁl-lill to (the symbols carry
their usual meaning) :
(1) 1:4 a2 1:2

{3) 2:1 (?“,Il |

At any instant of time ¢ Ilmdwplu:nnmnl of any
particle is given by % 1 (SI unit) under the
influence of l‘nrcq‘nf 5N. The value of
instantancous power ig{in S1 unit):

(1) 6 1} 10 P ?"l(-
(3) 5 %} 7 6’ 'Iqr._, L
s 1

A thin flat circular dis¢6f radius 4.5 cm is placed
gently over the surface'éf water. If surface tension
of water is 0.07 Nm™ then the excess force
required to take it awa‘tfmm the surface is:

(1) 99N 19.8 mN T=0

(3) 198N ‘(}) 19BmN

A wheel of a bullock¥cart is rolling on a level

road as shown in the re below. If its linear
speed is v in the diregtion shown, which one of
the following optionsdSicorrect (P and ( are any
highest and Iowesﬁmims on the wheel,

respectively)? -\
. 4 @ i;)\/
0 ;-L}Ej"
S S
=] q"f’?’*
i (=] 1\
Ty

(2) ' Point ' moves slower than point (.
(3) Point P moves faster than point {2,

(4) “Both the puints P and O move m“‘;‘i;iiﬁgﬁ
v & 2% 2
e :;(M K/{ i

4”%_ il
a
“_;::."r :

“‘ '?"1‘ 11
o &
(1) F‘::riru}f'!1||i|51-:»:=a:-::~s;pne'e-cl.J::I'L‘f'!.é J%D
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Given below are two siatements: one is labelled
as Assertion A and the other is libelled as
Reason R L

Assertion A :mmemialﬁ} at any axial point,

at 2 m distance(r) from thg-gentre of the dipole
L F

of dipole moment vectop=p of magnitude.

4% 106C m, is +9x10° P

= 910" S1 utits)
Iy

20
Reason R : P =%
dney

distance of any axial pointgsituated at 2 m from

the centre of the dipole. L)

In the light of the above statements, choose the

correct answer from the nq‘lllons given below:

(1) A is false but R is trug)

(2) Both A and R are trudlind R is the correct
- explanation of A.

|
(Take in ey

. where r is the

partmié excguting simple Fafmonic motion, the
amplitude and time period a@oﬁm respectively,
are e : P‘ = -S:THI
(1) ;5m,1s
(3) 5m,2s

Ty
(2) S5cm,2s
(4) 5cm,1s
[Tg]

u)

An unpolarised light beam gtyikes a glass surface
at Brewster's angle. Then
{]hthc reflected light G311l be completely

larised but the refeacted light will be
partially polarised.
the reflected light will be partially polarised.
the refracted light will be completely
polarised. .
both the reflected and refracted light will be
-:l:-mpltlcly polarised. /

A 8 f__. \CC

/"4 '[ Contd...
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Giiven below are two stalements |

16  The quantities which have the same dimensions | 20 _
as those of solid angle are : “uatement | : Aloms arc electrically neutral as
ptain equal mumber of positive and
I I they co q
(1) angular speed and stress negsiive chiarges.
{2) strain and angle Statement L1 : Aloms of each clement are stable
(3) stressand angle and emit their characteristic spectrum
(4) strain and arc in the light of the above statements, choose the
mast appropriate snswer from the options given
helow :
17 Inauniformmagnetic field of 0.049 T, a magnetic (1) Statement | is incorrect but Statement Il is
needle performs 20 complete oscillations in cormect.
5 seconds as shown. The moment of inertia of the (2) Both Statement I and Statement IT are
needle is 9.8 x 1079 kg m?. If the magnitude of comect.
magnetic moment of the needle isx * 105 Am; (3) Both Statement | and Statement I are
then the valee of *x" is : (4) Statement I is correct but Statement II is |
lﬁ incorrect.
s [
S 5" 21 Miaich List I with List II.
------ - I..ﬂt Lh: ﬂ
2 2 {Spectral Lines of (Wavelengths (nm))
(1) 1280= 2) 5x Hyd foir
2 transitions from)
4
{3} 8 X {} 50!.’2 A w:][ﬂm:ﬂ L 410.2
= = I 4341
I8 A thin spherical shell is charged by some source. B.. my=4fom=2
The potential difference between the two points C. m=5Swom=2 . 6563
CmdP[mi’]ﬂwmmtheﬁgumii ' D. m= =6tom=2 V. 486.1
(Take 1 9x10° S1 its) i Choose the correctanswer from the options given
=9x uni
4 below :
i \2% 25 (1) A, BIL, C-IIL DAV .J_ f %.:
R 5 (2) AL B-L C-IV, D-1il
(3) A-ll, B-1V, C-I1, D-1
\ @ AlvBILCLDE A= 2¢%
S
22 Maich List-1 with List-IL —2 56 x4
/ ] List-1 ListII ~—¢
: 1 - (Material) (Suseeptibility (1))
. ?;L A. Diamagnets L =0
(1) zero (2) 3x10° “ “J=f B. Ferromagnet L 0>g=z-1
(3) 1x 10° 4) 05x= Iﬂj.; ool C. Paramagnetic ( 1Ly >>1
ok .1 D hm—magmtl{.'f) V. 0<y <€ (asmall
|9  The moment of inertia of a thin_rod-about an axis positive number)
passing thmug‘lmmrdpolmandpu'pﬂﬂlculu* -Ehum:lhcmrrﬁﬂlnswerﬁmthmpmmym
to the rod is 2400 g cm’. ml'luflh:-‘lﬂﬂg «_below: flg._n__
rod is nearly : (1) AVBILCILDD q 10
: 8.5’ (2) A-I, B-111, C-1V, DA .
(1) 72.0em (2) 8.3cm O ADIBL CIL DI O 358
(3) J7.5¢cm (4) 20.Tem (4) A-lIL, B-IL, C-1, D-IV ;33_
5 Lkl = 800 | Conta.
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Consider the followin
Consi B statements A and B
wdentify the correet answer ; -

A, fnr a solar-cell, the |- characteristics lies
in the IV quadrant of the given graph.

B. In a reverse biased pn junction diode, the

current measured in (u4) , is due to majority
charge carriers,

Both A and B are incorrect.

A is correct but B is incorrect.

A is inl::m'.mcl hut B iz correct.

Both A and B are correct.

(1)
(2)
(3)
(4)

B

If the monochromatic source in Young’s double”

slit experiment is replaced by white light, then

(1) all bright fringes will be of equal width.

(2) interference pattern will disappear.

(3) there will be a central dark fringe surrounded
by a few coloured fringes.

there will be a central bright white fringe
surrounded by a few coloured fringes.

(4)

A light ray enters through a right angled prism at
point P with the angle of incidence 30° as shown
in figure. It travels through the prism parallel to
its base BC and emerges along the face AC. The
refractive index of the prism is:
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26 The terminal voltage of the battery, whose emf is

27

28 Two bodies A and B

29

10F and internal resistance | £3. when connected
through an external resistance of 4 £ as shown

in the figure is :
401

= V+ Iy
(m 1w @ av E
(3) 6F (4) 8V i:“ﬂ*r)
-JT_

A horizontal force 10 N is applied to ablock 4 as
shown in figure. The mass of blocks A and & are

2 kg and 3 kg, respectively. The blocks slide over

. a frictionless surface. The force exerted by block

A on block 8 is :
" b !Wﬂ'—
F=10¥ B o = 12

E 34 L =
SR zkf"aﬂ‘* = E_I'Tl)’.‘;
1 10N Y e AN =T
(3) 4N (4) 6N gc:;;u

same mass undergo
completely inelastic one dimensional collision.
The body Amoves with velocity v; while body B
is at rest before collizion. The velocity of the
system after collision is v,. The ratio v, : v, is :

() 14 2) 12 CEEL

(3) 2:1 (4) 41

The output (¥) of the given logic gate is similar
to the output of an/a :

*—*::)J\_D r

s | _—
(1) T 3 ATE — A B
— A8
NG 28 5 (1) ANDgate . (2) NAND gate
G) - Ll (3) NOR gate (4) OR gate
AT\
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[ Physics ¢ SectionB (. No. 36 050) |
kT is not of an electromagnetie

30 Inthe following circuit, the equivaleni capacitance | 36 The property “'h_i':"' : .
between m:ﬁinla and terminal 8 is : wave travelling in ffed space is that : . ,
{1y they originals l'il'r'rrrl:'l charges moving with
) uniform speed.,
A — B {2} l:'ﬂ:}' are lrﬂl‘l.Wﬂﬂ in nature.
T:il‘ ﬁ g_#_..-'l ‘ {.3} ihe ﬂ“ﬂrw dc“;;ﬁl- n :IIH:I]"iIE I'ltld is edqie|
(1) 4pF C @ 20 to energy density'in magnetic field.
(3) 1pF L (4) 05pF - .
: R G T (4) they travel withid speed equal to_fL " "
31 Aparticle moving with IEMH in acircular Ty
' path maintains : = U
(1) virying ve -m'bd\ragingmcleuti-:m. o3 e motion of &
"(2)- constant velacity. 37 The velocity (v)— tille (1) plot of
v (3) constant ration. body is shown below.,
« {4) constant vefoCity but varying acceleration. |
32  The maximum ckﬁgﬁtim of a steel wire of 1 m "
length if the elastic limit of steel and its Young s
modulus, respectively, are § = 10 N m™? and 0 oé‘ :
2% 101 Nm?, @ X WAE |20 ’%‘ °h '
- .r =yime (f) graph that best suits
il (3), 04 E}Em mm+x IL*"?.—".'f % 16 Zmotion is : E:,I
& i N 1T N ¢
33° 20 —“sr-u-,—+¢ vz p—~0 g E
(5 ted above, the mass 3 7
. i In thé nuclear emission stated above, - 2)
II:II'IIII}H and atomic number of the product O (1 I‘M-ﬂ.i‘; ( 1) —
ively, are § i _c\
28681 o (@) 280,81 )
(3) 286,80 o (4) 288,82 - = £
5 7 1 ek
M - g =R S f G CSmSt N 4 prov
N Lﬂs —
Tz _ Lﬂt Ty
= § : itoris 210 V, 50 H
e om0
moving tow id-2 from solenoid-1. source gipure. ik curs
direction of in current in sohnﬂ:.‘rl mlilii:l:: die Sirceic Is nearly {: -3.14):
in solenpid-2, éspectively, are throug =y
directions: A To
(1) BAandDls (2) ABandDC
(3) . BAand CO¥) " (4) ABand CD
] und 100 turns coil of radius
as A gy g current of TA! Themagnitude of | oy 5% o 1
the magnetic ficld at the centre of the coil is (Take
ility of frec space a5 4mx 10=7 Slunitsk (1) 0354 (2) 0584
(1) 447 (2), 44 mT b ire) 34 (4 1204
(3) 44T @ 44mT  2qx\P 4 am
wo nle & 2 | i Contd
o
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> The fﬁllnwing graphrepresents the T-V curves of s
rﬁe'iﬁ:-ﬁ; (where T is the tem perature and ¥ 43 Aforcedefined by # = cu? + r acts on a particle
compared with ‘*‘r“;ri::l':;:rre‘i If-'|. Py !"1!:'31 at a given time t. The factor which is
as dotted lines. il s dimensionless, if o and 3 are constanis, is: )

r=xU" !
LS e e
= =%
V¥ ‘M_b ol @ ape MU
:;I.;E:“ the cormect reletion is: U 4] x = H L‘rr
A H:ﬁ:ﬁ ) A>R>AR fé 44  Theminimum energy required to launch a satellite
G) ﬂ:"%l‘?z 4) A>R=R of mass m from the surface of earth of mass A
40 o and radius R in a circular orbit at an altitude of
El!m“ the correct circuit which can achieve the 2R from the surface of the carth is: ¢—
ridge balance, ZF E,; = ML
SGmM
N () Sz @ “Gz
< 5 w:=GgHml1-
(1) TelAs =3
@ 2GmM GmM 2 (A
£ K (3 3R 4 3 : 9.':.4'-@ [ﬁ__
S TH ol 2 L84
G P, 45 A metallic bar of Young's modulus,
) () Y 0.5 x 1011 N m~2 and coefficient of linear thermal
_|j > expansion 10-% oC-1, length 1 m and area of
cross-section 10-* m? is heated from 0°C to 100°C

41 T'-l:ln :a:twtm A and B have power rating of 1 kW without expansion or bending. The compressive
an , respectively. Those two are first fi Joped in it is: =
eonnected in series and then in parallel to a fixed g o 3 ‘f }E::.ET

power source. The raiio of power outputs for these (1) 2x10°N (2) 5*10°N
tWO cases is: (3) S0=10°N (4) 100« 10°N
(1) 2:3 @ 1:1 £ o= MAaD
(3 2:9 4) 1:2 - L] = B'Sw;
: 46  Aparallel plate capacitor is charged by connecting xl{;

42 gm&mm E it to a battery through a resistor. 1f1 is the current !.'::]II

a = (] - L - = i# i
i = e i U ikoad pa x in tI:c fm:uut. then in the gap between the |:||I:|t1='z:j:I S
B. the energy stored in it, decreases. t‘-liea‘i‘? \ o) | displacement current of magnitiide greaer .
C. its capaci ncreases “ ‘ H fl than 'l flows but can be in any direction, <)
D. :It: ratio of charge to its potential remains (2) there is no current.
E. the product of charge and voltage increases. (3) displacement current of magnitude equal to
Choose the most appropriate answer from the I flows in the same direction as I,

i iven below: i =
?ﬁmﬁ ¥ and C only (2) A, B and E ouly (4 displacement current of magnitude equal tw
(3) A,CandEonly (4) B,DandE only I flows in a direction opposite o that of 1.
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47 A sheet isplaced on a horizontal surface in front | 51 'd;:?;“ ll:-‘:ucmmgli :;ﬁ;nintm would by
of a strong magnetic pole. A force is needed 1o i
A, hold U sheer there if it is magnetic. <3F¢Hr{““ﬂgf'
B.  hold the sheet there if it is non-magnetic. D_ﬁ;v_. CH, - CHO
C. Mmov ¢ sheet away from the pole with — mr;:)
.. unifam velocity if it is conducting. (N :::' H].!(. o Ay
- D, movdihe sheet away from the pole with (2) (i) Hzgm”:’
unifikl velocity ifit is both, non-conducting i) co, P
" ,and non-polar. (3) (i) BH,
Choose thggorrect statement(s) from the options &)
given belay; WJW%AH
(h Co (iii) PCC o
2) B only (4) (i) BH;
(3) .J“k and € only - fé
== () H\ﬂ'l'
4) A, Céid D onl &
i o (iii) alk. KMnO,
+ 48  If the madd bf the bob in a simple pendulum is (iv) H.?DQ L
- increased W6 thrice its original mass and its length g
ts original length, thenthencewtime | £2  The compound ill undergo Sy;! reactin
Ef with the fastest rat
lation is E times |tsaiinal time CH; o~
.{{(;F the value nf.ri.:;_ - () d\m fg) (2) Q/\Bc
\ (1 (2) 3
N 271 o
i - <4
2V &\ @ 2.3 Ijg= @ O'“f}.,"“’
Ul Ty
: » ’ 53  Match List | with st 1.
49  Aniron Flength L has magnetic moment M. List 1 g List 11
It is bent « middle of its length such that the (Molecuic) —(Number and types of
Tﬁl two anms nnmgl:&ﬂ"‘wuhmhndmm \(bond/s between two
ﬁ5 m@mmmmmﬂMde carbon atoms)
TN L A. cthane ay ¢ L. one g-bond and
M Tm—""ﬁﬁz} 9% “Ih two x-bonds
I..l"} et = ﬂhmem= two x-bonds
3 one g -bond
o Yo “*4w v .ri’fﬁ-u@ﬁ( f“
- o ﬂh\'n: ‘:"]‘-" one o -bond and
o : —_— ﬁ one x-bond
50 A small tblescope has an objective of focal length Z_Chm&:mmdﬂﬁwﬁwnmbpnmpﬂ
140 cm and an eye piece of focal length 5.0 cm. below:
The magnifying power of telescope for viewing (1) A-lIL B-1V,C-1, D-11
a distani object is: . (2) A-LB-IV, C-11, DIl
(1) 32 (2) 34 (3) A-IV. B-1I1. C-11. D-1
' 4) AL B-IV, C-IL, D-1
G) 28 @ r? : D ;*
~—':r Mo, —23% 3 ontd-
S1 l-:n;iuh -e_ ~ICry G X ; 1€
T'( H.ﬁ e S ﬂ( -ui‘)
—
>
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54 Given below are two statements - %7  The reagents with which mﬂ“@m‘
to give the corresponding tests/products are
Statement 1« Raih [g‘l\{w| I.‘-]ﬁ ]1 ! wvd [I."ul'-‘ﬁ ]-" A.  Tollen's reagent
complexes are “E'-ﬂL:!dml but differ in their B. Schiff’s reagent
magnetic bchavin-ur_ln// C. HCN E
u 2 D. NHyOH A
Statement 11 : [l'-?ll.tlnll‘l3 L]' is diamagnetic E. NaHS(y o
St s g Choose the correct options frbe the given below
wherm I_EDFb] i[ﬁ’“'“‘mif- (1 Eand D l'z;l il
In the light of the above statements, choose the (3) AandD (0) TS
COTTRCE ansywet ﬁo."ul'F options given below: T
(1) Statement 1 is fdfie but Statement 11 is true. | 58  Match List 1 with List II. )
(2) Both Stalcm-:n@nnd Statement I1 are true. List I 5':’& n
(3)  Both Statementhnnd Statement 11 are false. Quantum Number  Information provided
(4) Statement | is% but Statement 11 is false. A, my f‘u'\\r 1. shilipe of orbital
B. m, (1) I. st of orbital
S5 Match List | with Lis II. 2T | 1 Ill. orientation of
List1 ' um] List 11 ) ital
(Compound) L0} (Shape/geometry) D. n 0\') [V. ppientation of spin
A. NH; (O S Trigonal Pyramidal ; sEelectron
B. BrF, {'lu) 31l Square Planar Ehmﬂmmntﬂmﬁg the options given
C. XeF, e W Ocuahedral below: 'y}
D. -8F, lf'l W\ IV. Square Pyramidal | “!. A-ll, B-1, C-IV, D-II
*  Choose the correct apsyver from the options given |- {2) A<, BN C-IL, D-IV 45
:  below: ) . (3) AL B-IV.C-L D-Il
- A J} A-lL B-1I1, C-INID-1 {4) A-lI, B-IV.C-IL D-1 LD
* @ ALBIV, C-ILD- . ‘g
(3). A-IL B-TV, C-THD-1 59,  The highest number of helinhatoms is in
(4) A, BV, C-HD-1I (1) 2271098 L of helium &STP © "1 Na
: : i (2) 4mol of helium £ 7§ A -
56 " Armnge the following elements in increasing (3) 4u ofhelium )
. grder of first ionizatifp enthalpy: ) 4gofhelium pJ, U
. Li. Be, B, C, N _ Ty
cmmmm@*fmmfﬁmm 60 wmnhmmaﬂmmgmnﬁmﬂ
below: o E:C’ i &0 ;
1) Li<Be<N<HEC : 3 (1 1, + Na,SO, —» 4 + 2 NaCl
EI; L;-ch-:B-:C-f:N (2) ,Za+CuSO, > ZnSO, + Cu
3y Li<B<Be<C<N {i] i“f'f:it:l_‘_’?m[,}'*m: =
(4) Li<Be<C<B<N ARt o

S1_English | . 3 < .4 ! . | Contd...
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Jectron in the ground state

fan ¢
51 Glogleion 48 oM s of = .[T: D for He ion is—x J, then that for an electron
Stat t 1 : The boiling point of hydrides o = P o T e
Gm:: 1l : elements follow the order in n = 2 state for Be™" lon | ge=0 “T;E
HEG}HET'E:‘ |‘|1$C:"H:!S- () -;! (2) -x
Statement 11 : On the basis of m!u:ulnr mass, R
H,O is expected to have lower boiling point than 3 = @) —dx —E =
the other members of the group but due to the (3) -3 i
presence of extensive H-bonding in H,0, it has = %..L s
higher boiling point. 1 65 Match List 1 with Listll. € = e
In the light of the above statements, choose the List I e
correct answer from the options given below: (Conversion) ; u b
(1) Statement I is false but Statement I1 is true. 7 -9 : ".d;F
(2) Both Statement | and Statement Il are true. A. 1 molof H0 100, (n) e
(3) Both Statzment I and Statement Il are false. B. 1 molof MnO, to .
(4) Statement | is true but Statement I1 is false. Mn2t ST .
C. 1.5 mulé) Ca from [
62 Arrange the fallowing n}emenujn_inﬂrﬁsinl_ J ,T::;T“gr}:&g:w s v SF |
:;nf:lmc;wtwny. 3 1,’;‘_-:h¢:.m the correct dhswer from the options grven
. } =0
" " L £-. x : th: 5 {’
Choose the comrett answer from the.options given ‘,u\f (1) AL BV, C1L DI g Lr = 7
Dedow: : (2) A-ll, B-IV, C, D-111
(1) F<O<N<C<Si . D (3) AL BV, C1, DI
(2) Si<C<N<O<F 2 o (4) A-IL, B-1IL, C-l, D-IV
3) Si<C<O<N<F [ :
L,‘l OD<F<N<C<S5i '@’ v 66 | gram of sodium hydroxide was trﬂtﬂdv:rni.
25 mL of 0.75 M HCl solution, ﬂf;mﬂf sodium
. ST hvdroxide left unreacted is equal to  -@&=gF |
63  Match List | with List 1. .ﬁé??. '_';f} S0 e ) 750 mg LT!‘;
Ll M (3) 250mg () zeomg |B-3n
{Process) {Conditions) X : J
A. Isothermal I.  No heat exchange 67  The most stable carbocation among g,. 25
process (‘| I} following is: \& 2 ;
B. lsochoriee ) I Comedoutat yo 12 cH, ‘Ko s 2 |
process ! ) constant temperatu dr- m -. 2 z D-lg- |
C. Isobaric fl'i) 1. Carried out at ¥ NG *
i ' Ly
process mn::_u.m volume _?,E:" CH, "‘fc' ?.;-
D. ﬂdubmcl' i ,. IV. Carried out at @) = o
process l) constant pressure Jr H,C EH CH; ;t'&_??

UAE

Choose the correct answer from the options given

() ALBILCIV,DI S5 MJ o A e, H\“{?H{/ 1
(2) ﬁ-l"d",B—Hl.C—Il. D-1 Mﬂ'_gi -‘0 _45 }(_‘25 1
H | &
@) ADVBILCILDE, o, 20 @ [ 5 jsis
(4) AL, B-1L, C-IL D-1V -‘"_‘:{E)_Eg __?;r'i.
W) P TR e AN [ Contid
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are NOT equapy Mowing equilibria, Kpand K | 72
(1) 2BrCl,_, o :
(3 prC ® = Braggy + Clyy '
lsey == PCI,_ + ()
3) H s g
4 gy =22 Hl, o
COp M0 = €Oy + Hyy o
s At Ar
o nﬁtl.?'ﬁ value for the Mp’ 'Mn?* couple is more
positive than that ¢ E" 2t or Fed*/Fe* due
to change of ‘ ‘31 LE dﬁ
(1} &g’ cunfﬁqm{u" 73
(2) 4510 ¢* configuration
(3) @ to &2 configuration
1) d*tod’ cul‘lﬁlﬁ}lrﬂtinn 5:5X40
A
0 Fehling's Mlu[iun:ﬁ' is __E_.-:?- X 'ﬂ‘
(1) aqueous sodipm citrate 1@ 74
(2) aqueous coppensulphate 2%
(3) alkaline coppérisulphate J_%
(4) alkaline solution of sodium potassium
tartrate (Rochelle’s salt)
71 Match List L with Lfg 1
List I (Reaction) Ty List Il (Reagents/
= Condition)
o 0
-
A OO (V) O |
Anhyd. AICI,
i
5. Q- G 1 oo,
OH '
C. |::]" -—rOJ‘t;'g( H) . KMnO,/
_ ‘E: KOH, A
H
p!! R0 IV, () 05
@,cmu 1"5 \"'-) (i) Zn-H,0
Choose the correct #inswer from the options given
below: 19
(1) A-l, B-IV, CAL DIl
(2) AV, B-1, CHil, D-1I PAe
(3) A-lIL, B-I, c—‘qg D-1V g,‘l‘ﬂ "
(4) A-IV, B-L, C-I, D-1lI ‘i‘
4317‘ 11
; e

UAE

In which of the following processes entropy

increases?

A. A liquid evaporates (o mpnup/—'

B, Temperature of a crysialline solid lowered
from 130 K 1o 0 K.

C. 2NaHCOy,,~*Na COyq* CD~;.m+ H,0,,,

D. Clyyy 2 Ch ; ’

Choose chr.mm:fans*ﬁ' from the options given

below: U

(1) Cand D g

(3) AABand D
A compound with a mélecular formula of C.H 4

has two tertiary carbord ts [UPAC name is:

(1) T 3-dimethyibutane

(2) n-hexane

(3) 2-methylpentane W)

(4) 2,3-dimethylbutasé)
Ty

For the reaction 24 =B+, K==dx|l}'],.ﬁt1

Aand C
A, Cand D

given time, the compogttion of reaction mixture c
is: [A]=[B]=[C]=2¥i0"M. He = fé:l -
[27)

Then, 'which of the following is correct?
{1} Reaction has gcmﬂ? completion in forward

direction.
{2) Reaction is at eq L.
Reaction has a to go in forward

(3)
direction.

(4) Reaction has a
direction.

Given below are two stalements:

Statement I : The boiling peint of three isomeric

pentanes follows the otder

n-pentane > isopentangs neopentane

Statement I : When branching increasés, the

molecule attains a shape of sphere. This results

in smaller surface areagfor contact, due to which

the intermolecular forges between the spherical

llH:!IHulﬂ:Slrl.' weak, thereby lowering the boiling

point.

In the light of the above statements, choose the

;ﬂl.;f appropriate Answer, from the options given
w:

o2

v

b

e 8 )

(1) Statement] is incorrect but Statement 11 is
cormect.

(2) Both Statement | apd Statement Il are correct. :

(3) !Snih Statemen nd Statement Il are
ncorrect.

(4) Statement | is n#ﬁ:ct but Statement 11 is
incorrect,

3
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76  Which f the fi i s | 7 Match List | with List I1.
ich one of the following alechols reacts o llf‘umpk:) List IT (Type of

instantaneously with Lucas reagent? Indmarion)
A. [l‘.'n{\rH j (N, ”(.I ) I. Solvate
(n FHJ n isomerism
CH,-C-0OH
> - V) 1. Linka
CH, B. [co(nmy) (s0,)[Br (11V) I Linkage
isomerism
(2) CH,-CH,-CH,~CH,OH c. [co(nm,), | [cr(cr),] . fonization
f v ) isomerism
(3) 'L“IHs'r:Hf fii'HwOH 1 D. [Cn{H?DL]Clj ("'1) IV. Coordination
s ' isomerism
Choose the correct answer from the options given
below:
e E:—CH::UH (1) AL BV, C-11l, D-I
s @) Al B, C-1V, D-1
(3) A-L B-IIL C-IV, D-TI
(4)  A-L, B-IV, C-IL, D-11
Kut ‘-‘»;,H
i aBiildny (K vaes o thres 80 Intramolecular hydrogen bonding is present in
gases (A, B, C) in water are 145, 2=10~% and (1) HF

35 kbar, respectively. Thesalubility of these gases NO,
. o CX
in water follow the order: A 20 2 & OH

NO, .
(1) A>B>C (2) B>A>C 3 =
@) e
(3) B>=C>A (4) A>C>B NO,
@ @’

3 HO
78  On heating. some solid substances change from

solid to vapour state without passing through Bl  Given below are two statements:

Statement I : Aniline does not undergo Friedel-

liquid state. The technique used for the Crafts alkylation reaction. '
purification of such solid substances based on the Statement 11 : hminemmthn;m‘ndthm.nghl
nciple is known as Cabriel synthesis.-
e i [nth:hghmﬂh:nbm:st:tmnls.chmﬂw“
1) Chromatography correct answer from the options given below:

G2 (1) Statement | is incorrect but Statement Il is

(2) Crystallization A true. Ll
e (2) Both Statement [ and Statement 11 are tree.

(3) Both Statement [ and Statement 11 are false. | )

(3) Sublimation
,(4) Statement | is correct but Statement 11 is ||
(4) Distillation <
S1_English | B 12 : | cu:d..ll
A
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(3). Aand E only & “q_
. (4) Band C only \ ;y/ (1) Three canonical forms can be drawn for
: ' i 7, 3 €o?" ion.
85 Which PI‘:“ of In k vs TIII"' is consistent with (2) MWMMMhdﬂWﬂﬁjr
oFone.
Arrhenius equation? m :h‘ ~Ne . _[l"l_'l. {(3) BF; has non-zero dipole moment.
(4) Dipole moment of NF, is greater than that
T 1 fak = finA - _Y@ofNH,
(1 = , 2y, = - KT
= T }.nh' -9 ]qﬂ‘!'I xﬁmnpwnd!mnujnsﬂﬁnfﬁ.ﬂﬂ%nfﬂmd
h lali“i"'E percentage of C. Then, the empirical
. + i cf‘ﬂmulnnrl"){is:
x e 4
& i El % (Given atomic masses of A=64: B=40; C5 32 u)
&) — @ (1) ABC, @ Agc, UES
‘ 5 () ABC @) ABC, — 43§
3
S1_English | . 13 .-—-—‘L“ Contd...
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A
mong Group 16 elements, which one does NOT

show -2 oxidation state?
(1) Py 2) O
(3) Se! ) Te

A + ]

b:twmmn energy of any chemical reaction can
calculated if ope knows the value of

(1)

(2)
(3)
(4)

rate constant at two different temperatures.
Fale constant at standard temperature,
Probability of collision.

'U'Ilﬂ"nlmh)n of reactant molecules during
collision,

L] : (] &
Spin anly’ magnetic moment is same for which
of the following ions?

A, TP+ #g“-a&i\g?-_ cR+ 45'345 JZ¢
ugf G Mt acZadSp per 34048 24

E. 83* *!‘-‘5'.13'-1" S
Choose the most appropriate answer from the

options given below: ” d
(1) AandDonly * T3
(2) Band D only =2

ALLEN NEET (UG) 2024

Set S1

[ Chemistry : Section-B (Q. No, 86 fo 100) |

86

87

Uiven below are certain cations, Using inorganic

qualitative analysis, arrange them in_jpcreasing
group number from 0w VI,

A. AP(3 B, Co?* (L
i D. Co?{4

C. Ba?*
E. Mgsz

Choose the correct answer from the options given
below:

(1) EA,B,C,D
{2) B.A,D,C,E
(3) B,C.A,D.E
(4) E.C,D,B,A

;2
B A

T'hcplu{ufmmicmln}vsmmim
{mol L) for a solution gives a straight line with

the osmotic pressure measurement is done is:

(UseR=0083 LbarmolK-) T/ = CRJ
(1) 12.05°C @3rc Y = mA
(3) 310°C (4) 25.739C =

- RY = &5 - 43

88  Identify the correct answer. 1 - ‘g - g =
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0 Major products A and B formed in the following
reaction sequence, are
OH

3 g
91  Identify themajor product C formed in the
following rqﬂmn SEqUENCE :

Mot CH, CH, (N

cH, ﬂﬂaﬁ*;—'———mm;

The products A and B obtained in m:_f:ﬂh...l
reactions, respectively, are
JROH + PCl—+3RCI+A Hz PU2
ROH + PCly—+RC1+ HCI + B l'-:‘.i:liI
{1y H;PO; and r}gl(.'r_:
(2) POCI, and HgRO,
(3) POCI; and H{PO,
(4) H;PO,and Fff.l Iy
-
The pair of lantharéid ions which are diamagnet,
is
(1) Pm* and Sm{
(2) Ce** and Yb&
(3) Ce* and Ev¥)
(4) Gd** and Ea®h
o
The rate of a mction quadruples whes
temperature changes from 27°C to 57°C.

Calculate the encigy of activation.
Givep R = E!diﬁ“n‘m‘" log 4 = 0.6021

(N SINHIHWIDF = fa_ <
(2) 38.04 KWimolS H‘ﬁ 1205k 2o

(3) 380.4 Ir.h‘mn‘l:'

DH_'Lﬂ NaOH
sB—p C (4) 3.80KkJ) A
wE "”"”‘""ﬂ;ﬁ Ea 4
CH:‘GE{-::ZH:{W] . m?nﬂ:l o g,.gg[?,éfﬁ
(1) - brogmbutanoic acid 96 meWmﬁn
s .

g; Eumnl:ylmifh O—tl:-{:ﬂ M[m:“
(4) bumgc | B E_:", { st

92 Consider theTallowing reaction in asealed vessel |'  “P'is ;"3
at u]tl:llbﬂuﬁ‘ﬂ'ﬂ&-::ﬂmnh‘n‘!ﬂns of " a6
H2=3ﬂxlﬂ'3hLﬂl-delﬂ’3Mmd - . 0.8
NO = M“I.ﬁ M. m {-c-cK )
INU{‘] = ) + ﬂI(ﬂ (2) O_ CH{)E

i : . !
IF0.1 mol L™2af NG, l:.i uk-:nvl,u a closed vesse ® o g
what will be degree of dissgcjation, () of NO, O
at equilibri 5 o cﬁ
DL oI -' 8 (O—CH-cH
.?3; 0.0889 (4) 0.8889 @ O~ — @,
T
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Botany : Section-A (Q. No. 101 te 135)

97  Duri : ’ ; .
F'-Irlng o preparation of Mohr's salt solution | 101  Lecithin, a small molecular weight organic
(Ferrous ammonium sulphate), which of the A 5
following acid is added to pmve;lt hydrolysis of compound found in living tissues, is an example
Fe2* jon? of:
ll'! dilute sulphuric acid (1) Carbohydrates
(2)  dilute hydrochloric acid ; i
(3) concentrated sulphuric acid (<) - Amino u::‘ufls
(4) dilute nitric acid (3) Phospholipids
(4) Glycerides
98 :-he work i:_ﬂma during reversible isothermal
*pansion of one mole of hydrogen gas at 25°C ; SRS
fmm pressure of 20 atmosphere to 10 atmosphere 102  These are regarded as major causes of biodiversity
15: m
(Given R =2.0 cal K-' mol) A. Over :xphimtimw'/
(1} 100 calories i
(2) - 0 calorie B. Co-extingt
(3) -413.14 calories C. Mutation
(4) 413.14 calories D. Habitat loss and ﬁnsmenmim/
99  Given below are two statements : e
Choose the correct option:
Statement 1 : [Cu{riﬂz ]ﬁ]l is a homoleptic (1) A, Band D only
i (2) A,Cand D only
complex whereas [Ca{NHJL C'I:T i=s a () A, B,C and D only
heteroleptic complex. (4} A,BandEonly
Statement IT : Complex [Cu[NHjla]J* has only
103 In a plant, black seed color (BB/Bb) is dominant
one kind of ligands but [Cu{NHj}i CI:] has over white seed color (bb). In order 10 find out
than uire kind of ligands. the gennnrpa'ﬁfﬂu black uud plant, wilh"whic!l
In the light of the above statements, choose the of the following genotype will you cross it?
correct answer from the options given below: (1) BB/Bb (2) BB
(1) Statement I is false but Statement II is true. 1) bb YU
{2) Both Statement [ and Statement [T are true. G) )
(3) Both Statement [ and Statement I are false.
(4) Statement [ is true but Statement Il is false. | 104 A transcription unit in DNA is defined primarily
: X by the Ehree regions in DMNA and these are with
100 Mass in grams of copper deposited by passing respect to upstream and down stream end;
0.6487 A current through a voltmeter nmt_ammg .
copper sulphate solution for 100 snmmlis is: (1) Promotor, Structural gene, Terminator
(Given : Molar mass of Cu : 63 g mol™, (2} Repressor, Operator gene, Structural gene
IF =96487C
(1) 0.0315 g:l @ 3158 () Structual gene, Transposons, Operaior gene
(3) 0315g (4) Inducer, Repressor, Structural gene
S1_English | 5 ﬁ.?é. [ Contd...
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1G8  Given below are fwo stalements:
Sintement I : Chromosomes become

1S Identify the set of correct statements:
A, The flowers of Hallisneria are colourful and visible under light microscope during oy
produce nectar. F- stnge. ..
B. The floWérs of waterlily are not pollinated Statement I1 : The begining of diplotene >
by wat l?- A recognized by dissolution of Sy NaDloge,
. ; T -1J g 5 ﬂﬂiﬂ]‘llﬂ- Ty
C. In mosChf water-pollinated species, the In the light of the above statements, chogy
pollen _:ins are protected from welting-/ correct answer from the oplions given beiy
D.  Pollen grains of some hydrophytes are long (1) Statement I is l'alsen:usl ;:mmT n E“'
and ribbon like, (2) Both Statement [ and Statement [l ats,
: (3) Both Statement I and Statement Il ar iy
E. In jﬁh-"dmli"h}"“-d:h‘ pollen b (4) Statement I is true but Statement [T iy
carmedipassively inside walef. W
Choose the er from the options given | 109  Match List [ with List [I 'y
below: List 1 Listli ©
A, Clostridium .  Ethanol E
(1) B..G L E ooy augﬁcm{‘m) -
3) A.E, dDon cerevisiae (| _
£ E{?“ :y C. Tric ( Ill. Butyric sl
(4) A,C 5_’111& E only = N) Ty
o D. Strepiococcus sp 1 ) V. Cye,'rwlpa&!
106 Bulliform célls are responsible for Choose the cerrect answer from the optioasge
(1) P""""’ﬂ?ﬂ "f‘ﬂ" gy (1) A-IV, B4, C-IIL, D-II i
{2} lﬂ'.'ml'l:l I:Ill"hl'lﬂ ﬂfll:-l\'ﬂ “1 mm'ﬂt‘.ﬂi. ‘:2] A-III.. ﬂ"l, C‘II... D_II‘]
(3) Prutacitg? the plant from salt stress. (3) A-II, B-IV, C-II, D-I -
(4) Incressed photosynthesis in MoNoCots. (4) A-HL B, C-IV, D-II 0
g;" 110 The cofactor cf the enzyme cmbﬂx}FfP‘ig“
; ik Li 1) Haem 2y ZFinc
107 Match List lgwith List 1T { " : o
Yist1 ) List I (3) Niacin {(4) Flavin E:
) W
A, .lbi.rizqﬂmfm} 1. Mushroom 111  Given below are two statements: e
B. Ustilago & ‘) [I. Smut fungus Statement I : Parenchyma is IMHE.
' I; [1l. Bread mould collenchyma is dead tissue. L1
C. Puccimia g 3 Statement II : Gymnosperms lack E}'mﬁ
D. Agaricus ) IV. Rust fungus hurpmnmcijyvmls isthe o
Chooehe et answerrom theapions <1 | of angospems i
v, B, i, D1 ¢ cortect answer from the opticns gvet 71
(1) AV, g (1) Statement | is false but Statement
(2) A-l, B-I C-IV, D-l 2) Both Statement | and Statement Il "'ﬁg
(4) Statement | is true but Statement I ®
(4) A-li, B, C-L, D-IV : 3
s 16 [ Co
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Identify the type of flowers based on the position
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of ealyx, corolla and ; : 115 Which of the following are required for the dark_
ndroecium with respect to u-f_n_licln_glpjmlnsynthmiﬁ,’
the ovary from the given figures (n) and (b) A. Light “_g
; L B. Chlorophyll )
Ty C. €0, o
Ty D. ATP 4
1 E. NADPH )
(= Choose the correct answer from the options given
(n) U’ below: T
(1) Dand E only Ty
i (2) A, B andC only g
(1 (a) Perigynous; (b) quigmm (3). B, ad D coly o
(2} (a) Epigynous; (b) H}'[}ug}'@ls Wb oo 1l:;‘::"l
(3} (a) Hypogyneus; (b) Epigydus 116 What is the fate of a picce of DNA carrying only
(4) (a) Perigynous; (b) Epim.ml{]l gene of interest which is miinsferred into an alien
organism? E
113 The equation of Verhulst-Pearl lgsti: growth is = 111: pqm S wﬂjd R ——T
; i it o e :Is::lfmdﬂpmdcn‘llg the progeny cells of
4:; a "‘-l K. ;\. :. : 3 the nr,gmirfm_
= o B. Itmay get :glmotlﬂ-m the genome of the
From this equation, K indi{:a[ﬁg recipient.
(1) Population density C. h may multiply and be'inherited along with
(2) Intrinsic rate of natural inc SR s
. [ D. The alien piece of is not an integral
(3) Biotic potential un part of chromosomie.—
(4) Carrying capacity g E. It shows ability to replicate.
i hoose the the options given
114 How many molecules of &Iﬁ% NADPH are below:
required lor every molecule of CO, fixed in the (1) S SRl Sty L
Calvin cycle? ) : :i; EE 2:{“2 5"—‘
on
(1 ;:;Ll_-[:ules of ATP and ?gnulwull:s of () BandConly g
Q
(2) 2 molecules of ATP and %ﬂulecules of | 117 = Formation of interfasciculdsd cambium from fully
NADPH o developed parenchyma cells is an example for
(3) 2 molecules of ATP and 2 molecules of (1) Maturation
NADPH (2) Differentiation
(4) 3 molecules of ATP and 3 molecules of (3) Redifferentiation
NADPH (4 Dodiffercntiation
S1 English | 17 | Contd...
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The type of conservation in which the threatened
species are taken out from their natural habitat
and placed in special setting where they can be
protected and given special care i called;

(1) Sustainable development
(2) fr-site conservation

(3) Biodiversity conservation
(4) Semi-conservative method

OVERSEAS

Which of the following is an example of
actinomorphic flower?

(1} Sesbania (2) Darura

(3) Cassia (4) Pisum

The capacity to generate a whole plant from any
cell of the plant is called:

(1) Somatic hybridization

(2] Totpotency

(3] Micropropagation

(4] Differentiation

Which one of the following can be explained on
the basis of Mendel's Law of Dominance?

A. Out of one pair of factors one is dominant
and the other is recessiver”

Alleles do not show any expression and both
the characters appear as such in F
generation.

Factors occur in pairs in normal diploid
plants.

The discrete unit controlling a particular
character is called factor.

The expression of only one of the parental
characters is found in a monohybrid cross. &
Choose the correct answer from the options given
below: .

() A,B,C,DandE

(2) A,BandC only

(3) A,C, DandE only

(4) B, C and D only

B.

C.
D.

E.

Spindle fibers attach to kinetochores of
chromosomes during
i1y Telophase
(3) Metaphase

(2} Prophase
{4) Anaphase

123

124

125

126

2 C. Leucoplasts
av)

18
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Inhibition of Succinic dehydrogenase enzyme by
malonate is a classical example of:

{1} Enzyme activation

(2} Cofactor inhibition
{3} Feedback inhibition
{4y Competitive inhibition

Hind I1 always cuts DNA maolecules at a_pnnrlimfiar
point called recognition sequence and it consists
of:

(1) 105p
(3) 6bp

(2) 8bp
(4) 4bp

i low are [wo statements: .

ngﬂ“nb:nt I : Bt toxins are ;W_____,M .
' ne cry JAC gt :

;nt::;:i?}l? fﬂm :zxin exists as inactive
protoxin in B. thuringiensis. However, after
ingestion by the insect the Inaclive protoxin gets
converted into active form due 1o acidic pH of

e insect gut. -
:11: the Iighfunf the above stalements, choose le
correct answer from the options given hcl::w,
(1) Statement | is false but Statement I is true
(2) Both Statement [ and Statement [T are true
(3) Both Statement [ and Statement I are false
(4) Statement | is true but Statement I1 is false

Match List I with List II
List 1
A. Nuchulus{'”-.) 1.

List 11
Site of formation
of glvenlipid
Organization like
the cartwheel
Site for active
ribosomal RNA
synthesis
D. Golgi (] ) For storing
apparatus nuirients

Choose the correct answer from the options given

below:

(1) A-1, B-I1, C-111, D-1V

(2) A-l, B-1L, C-1V, D-1

(3) A-IL. B-IIL, C-1, D-IV

(4) AL, B-1V, C-I1, D-1

E-- CE!'IIIiﬁIG (inl) I1.

1.

V.
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o ::i:::l“k t:l;m-md Snapdragon plant was crossed | 132 The lactose present in the growth medium of
> ha re I'lnw:w_rcd Snapdragon plant. What type bacteria is transported to the cell by the action of:

ol phenoly e/s 1s/are expected in the progeny? (1) Polymerase o

':!'} ed, I"mk as well a= whiile Nowered p||||1|g. (2} I‘-cll-gﬂl’lt.ln:idﬂil: L.

D oo 5 e

oW well as pink flowered plants 4 g
(4) Only pink ffoavered plants CNp Ty
128 le “r“fdﬂﬂﬁcrﬂ'ppccics was released by- 133 Auxin is used by girdeners to prepare weed-free
13-" IUCN & (2) GEAC lawns, But no da is caused to grass as auxin
(), WWF & (4) FOAM (1) can help in gell division in grasses, to
129 Tropical regionstshow greatest level of species produce

richness becausel!) (2) promotes apical dominance.

M Tropical latitudes have remained relatively (3) promotes abscission of mature leaves only.
undisturbed for millions of years, hence (4) does not affegtymature monocotyledonous
more timéhlas available for species plants. Ty}
diversificatids. ./}V - Ty

B.  Tropical enVironments are more seasonal /™ 134 In the given figure; which component has thin

C.  More solar bnkrgy is available in tropics,.~] outer walls and highly thickened inner walls?

D. Constant éndiropments promote niche
specialization’

E. Tropical e nments are constant and
predictable

Choose the correct answer from the options given o~

below: L) i &

(1) A, Band ly L

(2) A,C,D antE only )2 -

(3) AandB (3) 5 )

(4) A,Band ly oo :

Match List [ wath 1l
130 Which one of theg-{ollowing isﬂ a criterion for ! iuﬂ [I ¥ List 11

(2) Marpho fl'n}‘ﬂ?llum forms of a geney| ,i)

(3) Mode of nufplion Phid

(4) Modc of s formation B m&m E 1 Y

131  Identify the part gfthe seed from the given figure homozygous
which is destinedto form oot when the seed recessive mn%\"‘
germinaies. €3 C. Crossof F; ) O Allele
Ll progeny with -
i any of the parents (T')
D. Numberof M7 IV.  Testcross
-:hmmmumtf!
¥ sets in plant ”
Choose memtﬂsuw firom the opiions given
below: r
(1) A-IV, B-IIL, G-I, D-1
(2) Al B-II, C-II, DIV
" (3) A-L B-1, C-, DIV
(1) D () (4) AN, B-IV, C-1, DI
(3) B @ C
9 -
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Botany : Section-B (Q. No. 136 to 150) |

136

137

138

S1_English |

UAE

Mateh Lisi | with List Il
List 1 List 11

Rose[|) 1. Twisted aestivation
Pea {l“ I1.

Perigynons Mower
C.  Cotton ? . Drupe
. Mmgugt \)"u' Marginal placentation
Choosethe correct answer from the options given
below:
(1) AL B-In, C-1V, D-1
(2)  AdL B-IV, C-1, DN
(3) A4 B-IL, C-1, D1V
(4) AV, B-IN, C-11, DI

A,
B.

Given below are two statements:

Statement 1 : In C; plants, some O, binds to
RuBisCO, hence CO, fixation is decreased.
Statement 11 : In C, plants, mesophyll cells show
very little photorespiration while bundle sheath
cells do not show photerespiration.

In the light of the above statements, choose the
correct answer from the options given below:
(1) Swaement 1 is false but Statement 1l is true
{2) Both Statement [ and Statement 11 are true
(3) Both Statement | and Statement I1 are false
{4) Statement I is true but Statement 11 is false

Identify the correct description about the given
figure:

Compact inflorescence showing complete
autogamy.

Wind pollinated plant inflorescence showing
flowers with well exposed stamens.

Water pollinated flowers showing stamens
with mucilaginous covering.
Cleistogamous flowers showing autogamy.

(n
(2)
(3)

(4]

20

139

140

141

D.

ALLEN NEET (UG) 2024

Set S1

[] £

Read the following statements and choog £t
L

of correct statements: UL
Ini the members of Ph ;

A.  Asexual rl:prnduc::n/a!curs usually |
hifagellale zoospores.

B. Sexual reproduction is by COZAMONS Mgy,
only.

C. Stored food is in the form ﬂfcar::::‘y
which is either mannitol or laminar

D. The major pigments found are chr%
a. ¢ and carotenoids and xanthophyll -

E. Vegetative cells have a cellulosic wy

outside by gelating,

usually covered on
coating of algisr
Choose the correct answer from the options give
below: )
(1) A, B,Cand E only
(2) A.B,CandD only
(3) B,C,Dand E only
(4) A,C,Dand E only

Identify the step in tricarboxylic acid cycle, whig
does not involve oxidation of substrate.

(1) lsocitrate -+ «-ketoglutaric acid

(2) Malic acid — Oxaloacetic acid

{(3) Succinic acid — Malic acid

(4) Succinyl-CoA -+ Succinic acid

Match List | with List Il

List I List [l
Robert May (m I. Species-Area
relationship
Alexander von II. Longterm
Humboldi ecosysiem
FI ) experiment using
out door plots
Paul Ehrlich M. Global species
(v) diversity at about
7 million
David Tilman IV. Rivet popper

:2: hypothesis
Choose the coréet answer from the options gives
below:

(1) A-llI, B-1V, C-I1, D-1

(2) A-ll, B-11L, C-1, D1V

(3) A, B-1, C-1V, D-1I

(4)  A-L B-lIL. C-11. D-1V

| Cmd-l
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142  Match List I with List Il 145 Match List | with List 1]
(Types of Stamens)  (Example)
A. Frederick l.  Genetic code A. Munuﬁdl!‘pl'lml{l,i)l- Citrus
Griftith L | |l ) B. Diadelphous( (|} 1L l"tlm
B. Francois Jacob [I. Semi-conservative C." ' Polyadey; S{."' e LIE:.'F
D. EP'P"'?IIU“[_‘[‘ IV, China-rose
lﬁ- JHE'II;I.IE .1( [‘I'IDdE' l:l'r DNA Cl'm thﬂw answer f'mn ﬂ'w- nﬁ":ﬂﬂi gj'li'EI'I-
Maonod {l ) replication below:
l-: Hﬂfﬁm- F {l} ﬁ.-‘l". B‘I. E"’Wi D""
i ingd 11, Transformation ) A-1V, B-I1, C-1, D-111
Khorana ('f) (3) A-IV, B-L, C-11, D-I1I
D. Meselson & IV. Lac operon (4) A-l, B-IL C-IV, DI
o C”) 146 Which of the following statement is correct
Choose the correct answer from the options given regarding the process of replication in E.coill
below: (1) The DNA dependent DNA pnly_mﬂ_aic
catalyses polymerization in 5" —» 3" direction.
(1) A-IV, B-I, C-11, D-1I (2) The DNA dependent DNA polymerase
(2) A-IIL, B-I1, C-1, D-IV catalyses polymerization in one direction
3)  A-II, B-1V, C-1, D-11 thatis 3° —5".
A (3) The DNA dependent RNA polymerase
(4) A-Il, B-IIL, C-IV, D-1 catalyses polymerization in one direction,
that is 5" —3".
(4) The DNA dependent DNA polymerase
143  Which of the following are fused in somatic catalyses polymerization in 5" —3" as well
hybridization involving two varieties of plants? as 3" — 5" direction.
(1) Pollens _ _
147 In an ecosystem if the Net Pnmary Productivity
(2) Callus (NPP) of first trophic level is
(3) Somatic embryos 100x (keal m™>) yr~" , what would be the GPP
Protonlasts {Gross Primary Productivity) of the third
&) trophic level of the same ecosystem?
L}
100x -2 -l
i : ] /)
144 The DNA present in chloroplast is: (1 Ix (kcal m™") yr
(1) Circular, single stranded @ % (koal m™2) yr~!
(2) Linear, double stranded
_2 -
(3) Circular, double stranded (3) x(keal m™*) pr™"!
(4) Linear, single stranded (4)  10x (keal m™2) y»~!
S1_English | 2 | Contd...
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148  Match List | with List Il

A,
[}
| 55

D.

List 1 List 11

Inﬂulifl Ell] H. Enzyme

Trypsin HL.  Iniercellular
ground substance

Collagen d ,ﬂ UV, Enables glucose
transport into cells

Choose the correct a r from the options given
below: “w = .

(1) AL, Bwuml
(2)  A-IV, B-1, C-11, B
(3) A-L, B-I1, C-11l, D-IV
(4)  A-IL, B-II, C-1V -1

LN
149  Match List [ with Listdl
List 1 g List IT
A. Citric acid dy Cytoplasm
cycle LY
B. Glycul}'sisfl) 1. Mitochondrial
() matnx
C. Electron M. Intermembrane
transport g space of
system ¢ mitochondria
D. Proton dV. Inner
gradient ) mitochondrial
membranc
Ehmmelhemrreclm‘qffrﬁ'ﬂmﬂﬁ ons given
below: T

{1) A-IV, B-lll, C- Iltﬁrli

ALLEN NEET (UG) 2024

OVERSEAS Set S1

[ Zoology : Section-A (Q. No. 151 to @:
1851  Which of the following factors are favourable fo,
the formation of oxyhaemeglobin in alveoli?

(1) LowpCO, and High lemperature

(2) High pO, and High pCO;

(3) High pO, and Lesser H* concentration

(4) Low pCO, and High 1 concentration
L

152 Following are the stages £@Cﬂ division :
A. Gap 2 phase q . &
B. Cytokinesis <

C. Synthesis phase ‘é{,
D. Karyokinesis £F -C—h-
E. GaplphaseCjy Y/

Choose the correct sequerlge of stages from the
options given below : o]

(1) E-C-A-D-B  (2) TC-E-D-A-B

(3) EB-D-AC  (4) ,ﬁ-ﬂ-ﬁ-ﬂ-ﬂ

153 In both sexes of cock a pair of jointed
filamentous structures cal cerci are presemnt
on
(1) 11™ segment
(2) 5™ segment
(3) 10 segment
(4) 8% and 9 segment

50005

U
154 Match List | with List Il ;0
List1 U List 11

@) A, B-II, C-llI, BV ' nmmmchu(u) L. “Mollusca
(3) A-Il, B-1, C-IV, | B. Radula (T} ) II. £Ctenophora
(4) A-II, B-1V, C-1, I . Slﬂmﬂclmrdﬂ v 1. w{mmjﬁ
SO D. Airbladder(')\) ) IV. Hemichordata

150 Spraying sugarcane crop with which of t
following plant growtH fegulators, increases the ha: h: e d cORR the options gpived
length of stem, thus, iﬁ'wing the yield? s
(1) Abscisic acid o) (1} A-1V, B-lll, C-I1, D-{:;
(23, Auaia e (2) A-IV, B-IL C-II, DI
(3) Gibberellin E (3) A-ll, B-l, C-IV, Dl
(4) Cytokinin 4) A-IL, B-IV, C-1, DIl

S1_English | 22 | Contd...

N
UAE | Qatar | Saudi Arabia [ Oman | Kuwait | Bahrain



OVERSEAS

155 Match List | with List 1] :

List1 List 11
A. T}Phnid [‘ H] I.  Fungus
B. Ltlnsllmnnmsis Il.  Nematode
! R‘mg‘»m;rm[‘q) ll.  Protozoa
D. Filariasis IV. Bacteria

Choose the correct answer from the options given

below :

(1) A-I, B-1v, C-111, D-1
(2) A-lL B-1II, C-11, D]y
(3) A-lv, B-111, C-1. D1
(4) A, B-1, C-IV, D-1

156  Match List I with List 11 :

List 1 List 11
A. Cocaine([ n) I Effective sedative in
| surgery
B. Hi.'mm_ II.  Canmabis sariva
C. M-::rEhmq' R . Ervthroxylum
D. Marijuana M)} V. Papaver somniferum
Eﬁ;&sﬂh&c answer from the options given

(1) A-III, B-IV, C-1, DIl
(2) A-IV, B-MIL, C-1, DI
(3) A-L B-IIL C-II, D-IV
(4) A-II, B-1, C-1ll, D-IV

157

location in human body

() (k) ()

Mame of muscle/location

(1) (a) Involuntary - Mose tip
(b) Skeletal - Bone

(c) Cardiac - Heart.
{a) Smooth - Toes

(b) Skeletal - Legs

(¢) Cardiac - Heart,

(a) Skeletal - Triceps

(2)

(3)

1111'&_: types of muscles are given as a, b and c.
Identify the correct matching pair along with their

Set S1

158 Maich List | with List II :
List I
A. Pons ( ”ﬂ L

B. Hypothalamus .
(1)

ALLEN NEET (UG) 2024

List Il
Provides additiconal

space for Neurons,
regulates posture
and balance.

Controls
respiration and

gastric secretions.
Connects different
regions of the
brain.

Neuro secretory
cells

Choose the correct answer from the options given
below :

(1) Al B-l, C-lII, D-IV

(2) A-Il, B-lII, C-I, D-IV

(3) A, B-1V, C-II, D-I

(4) A-l, B-III, C-II, D-IV

C. Medulla (||) 1.

n.r Cerebellum [ I') V.

159 Maich List [ with List 11 :

160

List I List 1T
A a-l nntiu:g.'pa-irf”[} I.  Cotton bollworm
B. CrylAb I. ADA deficiency
C. CrylAc Ill. Emphysema
D. Enzyme IV. Com borer
replacement (* l!)
therapy

Choose the correct answer from the options given
below :

(1) A-II, B-1V, C-I, D-III

(2) A-Il, B-1, C-IV, D-IIT

(3) A-lI, B-1, C-1I, DIV

(4) A-lll, B-1V, C-1, D-H

Given below are some stages of human evolution.
Arrange them in correct séquence. (Past to
Recent) .

A.  Homao habilis

B. Homo sapiens

C. Homo neanderthalensis

D.  Homo erecrus

(h) Smooth - Stomach
(¢) Cardiac - Heart. Choose the correct sequence of human evolution
{4) (a) Skeletal - Biceps from the options given below :
(b) Involuniary - Inlestine (1) A-D-C-B {2) D-A-C-B
(c) Smooth - Heari. (3) B-A-D-C (4) C-B-D-A
S1 '
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Which of the following 1% nod a component ol

Fallopian tube?
{1y Ampulla

(2} Uernine I'ulldLﬁ:

{3) Isthmus LN
{4) Inihndihuhrmg
-
Miatch List | with 108X 11
List 1
Non-medicated P "“p}l
Copper mlcasml.ﬂ}ﬂfﬁll
Hunnunmlm@mq 1. Lippes loop
implants LNG-20
Ll1ms:: the correct Epwnr i‘mm the options given
below : Ty
(1) A= B-1L C-I'V, D-11
2)  A-lll, B-1, C- -1V
(3) A-L B-1IL C-RyyD-1l
(4) A-IV, B-I, C-RfD-11I
[ ]

a

Which of the fnll'm:: is not a natural/traditional
contraceptive nlclﬁ

(1} Vauls
(2) Coitus interruptus
(3) Periodic abstibehce

{4) Laciational mﬁmrhu ’

o
Match Lnstluldllﬂll

- .r.!mfll':j1

Preraphy
Ty ]

List I
Multiload 375

Progestogens

List 1T
Hag fish
Saw fish
Angel fish
Flying fish

Mixine (\ f 1L
Pristis (||) uy 1.
Exocoetus ﬁ yg V.
Choose the correct gnywer from the options given
below : =

(1) A-lll, B-1l, C-[{b-w

(2) A-ll, B-I, C-II, D-IV

(3) A-lIL, B-1, C-1I, DIV

(4) A-=IV, B, C-II, D-III

S1_English |

UAE
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The fMippers of the Penguins and Dolphins are
the example of the
(1) Divergent evolution
(2) Adaptive radintion .
{3) MNatural selection
(4) Convergent evolufpan
(g
Which of the following@@not a steroid hormone?
(1) Glucagon =
(2) Cortisol A
{3} Testosterone
Tone
(4) Progeste =
Match List I with List E_}" B
Lisi 1 List IT
Down's ,}.ﬂdmgm _11'{* chromosome
u.]‘h.hmmia{ll . ‘X’ chromosome
p -Thalassemia ! I. 21" ¢chromosome
Klinefelter’s IV. 16% chromosome
syndrome u
Choose the mmmshﬂ-&umuwnphmsslm
below ;
(1) A-IV, B-1, C-1, lg
(2) A-L, Bl C-II,
(3) A-lL, B-01, C-IV, i3l
(4) A-lL B-IV, C-, D1l
Given below are two stifements : one is labelled
as Assertion A and other is labelled as
Reason R :
Assertion A : Bm-@im during initial period
of infant growth is recpm by doctors for
bringing a healthy ba
Reason R : Colostrum contains several antibodies
absolutely essential to develop resistance for the
new born ba Tg)
In the light of the abodelstatements, choose the
most appropriate m the options given
below :
(1) A is not correct is correct.
(2) BothAandR are tand R is the comect
explanation of A,
(3) Both A and R are correct but R is NOT the
correct explanation of A.
(4) A iscorrect but R is not correct.
| Contd-
Oman [ Kuwait | Bahrain
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169 Match List | with List 11 -

ALLEN NEET (UG) 2024

Set S1

. 171 Given below are two statements : one is labelled
List 1 List 11 as Assertion A and the other is labelled as
A, F,lel‘ﬁinﬁn (T I Expirntm-_l,' rescrve Heason B -
capacity - m R\J volume + Tidal Assertion A 1 FSH upon ovarian follicles in
volume + female and Leydig m in maleol,
[ Inspiratory reserve Reason R : Growiagf)ovarian follicles secrete
o volume estrogen in female wiille interstitial cells secrefe
B. Functional <& . Tidal volume + androgen in male huiEikn being. o
residual Expiratory reserve In the light of the uﬁt statements, choose the
capacity [DJ‘) volume correct answer from options given below :

C. Vital capacity) Tidal volume +

Inspiratory reserve

c )Ill

(1) Aisfalse but R is true _
(2) Both A and R R true and R is the correct

volume explanation of
D. I“Wi‘“ﬂ'}' \) IV. Expiratory reserve (3) Both A and R afe true but R is NOT the
capacity ] +7T V volume + Residual correct explangiion of A.
Ty volume (4) A is true but Rgsfalze

Choose the correct answer from the options given
below : -

(1) AL BAILGIL DAV

(2) A-IL, B-IVG-1, D-11

(3) A-lL B-IKB-1V, D-1

4) A-n.a-l.gv, D-111

170 Maich List 1 mﬁ]L’m in:

172

w

Given below are two statements :

Statement I : The phédence or absence of pymen
is not 4 reliable indibllor of virginity

Statement I1 : The n is torn during the first
coitus only. 4

In the light of the apoye statements, choose the
correct answer fromyffje options given below :

F:blrh [:t I:ﬂ (1) Statement | is false but Statement I1 is true
: :.P“ Icr:.} (2) Both Statement | and Statement [l are true
A Dmhmlsnﬂt) Synaptonemal {(3) Both Statement land Statement 1l are false
complex formation (4) Statement [ is ggne but Statement Il is false
B. Pachytene (g) Completion of §
tcfmm.nhsallmuf 173 Which of the follgwing are Auloimmune
o ch:amau disorders? i
C. Zygotene Elmo[:mmm A. Myasthenia gravis
rﬁ look like thin B. Rheumatoid arthriti
threads C. Gout p&__ I..I.'m‘j
D. Leptotene &1) Appeum 7, D. Muscular dystrephy
nodl et | b E. Systemic LupgDEnthematosus (3LE)
ules

Ehmmﬂtnnqpﬁmwrﬁ'omthenptmnsgwm
below :

(1) A-IV, B-I1I, C-IL, D-I

(2) A-IV, B-1L, C-IL, D-I

(3) A, B-IL C-IV, D-III

(4) A-II, BV, C-1, D-llI

Choose the most
options given belo

(1) C,D&E o)
(2) A,B & Donly
(3) A,B&E only
(4) B,C &Eonly {_

ropriate answer from the

| Contd...
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174 Consider the following statements :

OVERSEAS

A.  Anneclids are true coelomates

B. Poriferans are pseudocoelomates F(

C. Aschelminthes are acoclomates p{_

D.  Platyhelminthes are pseudococlomates o

Choose the comect answer from the options given
——

below :
(1) Donly (2) Bonly
(3) Aonly (4) Conly

175  Which one is the correct product of DNA
dependent RNA polymerase to the given
template?

S ATGTACCETTTATA
3"!'&8&1'6 AT&T(,B

TAAGT
ATTCAS"

(1) 5"ATGTACCGTTTATAGGTAAGT3" #_
(zﬁ*.wﬂuac:tﬁuuuaumﬁuamua'

(3) i'HUGUAMGUUUAU.AGGUMGUS'%L
(4) 5’AUGUACCGUUUAUAGGGAAGU3’

'

Which one of the following factors will not affect
the Hardy-Weinberg equilibrium?

176

(1) Constant gene pool
(2) Genetic recombination
(3) Genetic drift

(4) Gene migration

S1_English |
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Set S1

177  The *Ti plasm id" of Agrobacterium fumefacions
stands for

(1) Temperature independent plasmid
(2) Tumour inhibiting plasmid
(3) Tumor independent plasmid
(4) Tumor inducing plasmid
178 Given below are two statements :

Statement I 1 In the nephron, the descending limb
of loop of Henle is impermeable to water and
permeable to electrolytes. P‘L

Statement I1 : The proxinial convoluted tubule
is lined by simple-columnar brush border
epithelium and increases the surface area for

reabsorptions~
In the light of the above statements, choose the
correct answer from the options given below :

(1) Statement | is false but Statement Il is true
(2) Both Statement | and Statement 1l are true
(3) Both Statement | and Statement 11 are false

(4) Statement | is true but Statement 11 is false

179 Match List I with List 11 :

List I List 11
A. Lipase Em I Peptide bond
B. Nuclease(\y) Il Ester bond
C. Pmlumc’j) M. Glycosidic bond
D. Amylase rm IV. Phesphodiester bond
Choose the comrect answer from the options given
below :

(1) A-IV, B-1, C-1lL, D-Il
(2) AV, B-IL, C-II, D-1
(3) A-llL, B-1I, C-I, D-1V
(4) A-IL BV, C-1, D-1I1
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180 Match List Iwith List I :

183  The following di::‘r:am showing restriction sites

List1 L) List T1 En {E’.mrlflfminu“ '1 tor pBR322. Find the role of
A, Fihrnugj_?,i 15 L Adiacent X and'Y HEI‘I#.”.II
( H% vericbrae, limited Ecoft 1—Cla | el
3 moverment Pru i -
B. Cartilaginous 1. Humerus and et Bamil |
JOtmie e Pectoral girdle,
il ) rotational i
: : Ty movement \
C. Hinge .¢ ) 1L Skull, don’t oy
Joints (t?} allow any ul
L:J PRONVDINCHL (1) Gene'X" isr!-.'!_:pmsihle for recognition sites
D. Ball and }“)\n’ Knee, help in and *Y* isresponsible for antibiotic
mmjﬂ% locomation resistance. | [}

Choose the correct answer from the options given
below :

() A-m,p‘-l, C-1V, D-1l
(2) A-IV, B.01, C-111, D-1
(3) AL, BoHi], C-II, D-IV

(4) A-II, B:=Mi, C-1, D-1V
-

(2) Thegene ‘X" is responsible for resistance (o
antibiotics and *¥” for protein involved in
the replication of Plasmid. ;

(3) The gene ‘Aflis responsible for controlling
the copy nuiber of the linked DN‘A l.fld *¥
for proteiniivolved in the replication of
Plasmid. + : |

(4) The gene X" is for protein involved in
replication ofPlasmid and * ¥ for resistance

181 Fullﬂwinﬂre the stages of pathway for to antibiotics.
conduction of an action potential through the 184 Match List 1 with List I1 :
heart: o List 1 1 List 11
A. AV buidie 0 e N A. Common cold(fy) 1. Plasmodium
B. Purkinjefibres L} B. Haemozoin Il Typheid
O AV o |2 C. Widal test M. Rhinoviruses
; D. Allergy [ IV. Dust mites
D. Hundl@un:l:s Choose the co wer from the options given
E. SAnodé below :
Choose the correct sequence of pathway from the (1) A-IV, B-11, C-IIL, D-1
options given below : (2) A-N, B-1v, C-lII, D-1
(1) E-A-DiB-C (2) E-C-A-D-B (3) A-lL B-II, C:IL, D1V
= (4) A, B-1, . D-1V
3) ,a..E.cﬁ.n (4) B-D-E-C-A e Y
185 Maich ListIw ist 11 :
] By cty Ty . List I List 11
182 Which of thefollowing statements is incorrect A. Axoneme fi1y5 | Centriole
(1) Bio-rédctors have an agitator system, B. th&&'i(: ;—, Il. Ciliaand flagella
an oxygen delivery system and foam control patiern \
system., C. Crista ("\V) l. Chromosome
(2) A bio-reactor provides optimal growth D. Satellite (l'.", Y. thchundna :
conditions for achieving the desired product. E;:ﬂﬂsﬂ the answer from the options given
- ow :
(3) Most commonly used bio-reactors arc of (1) AL, B-L, C-IV, D-11l
sturmg type. (2) A-1V, B-1, C-I1, D-1
{4) Bio-reactors are used to PI‘DdIIE# small scale (3) A-IV, B, C-111, D-1
bacterial cultures. (4) A-ll, BV, C-1, D-I
S1_English | 27 | Contd...
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?.u-ulum'— .:_"Ei_lnl-ﬂ‘_ (Q. No. 186 to 00 ]

186 The following are the statemenls aboul non-

187

chordates :

A.  Phanynx is perforated by gill slits.
B. Notochord is absentg 2\~

C. Central nervous system is dorsal. pL
D. Heart is dorsal if present.

E. Post anal tail is absent.

Choose the most appropriate answer from the
options givea below :

(1) B,C&Donly

(2) A&Caonly

(3) A.B&Donly

(4) B,D & E only

As per ABO blood grouping system, the blood
group of father is B*, mother is A* and child is
O*, Their respective genotype can be

PO LT f,,.g?;rs', 1
B. IBIB/IAW/ii
C. B /A8
D. 1Ai/1Bi/IA
E. ilB/il*/IM8

Chﬂﬂﬁcthcmw.mwﬁﬁmﬁe
options given below : &

(1) D&Eonly  (2) Aonly
(3) Bonly (4) C&Bonly
Match List [ with List I :
List 1 List 1T
A. Mesozoic Era I. Lower invertebrates
B. Proterozoic Em [I. Fish & Amphibia
C. Cenozoic Era Il Birds & Reptiles
D. Paleozoic Ern  IV. Mammals

Choose the correct answer from the options given
below : >

(1) A-NIL, B-1, CIV, D-lI

(2) A-ll, B-1, C-lII, D-1V

(3) A-lIL, B-I, C-11, D-IV

(4) A-l B-ll, C-IV, D-1ll

S1_English |

UAE

189  Match List | with List n:
List 1

A. P wave Ct l"h I i

¥
"

below :

(1) A-IV, B-I, C-1, D1l
(2) A, B-IL C-V, D-II
(3) A-, B-11, C-IV, D-1

(4) Al B-IIL, C-1, D-IV
190 Match List | with List 11 :
ListI
A. Exophthalmic L
goiter- {u\)
B. Acromegaly IL
(W)
C. Cushing’s ML
syndrome ()

D. Crctmml{.”) v.

below :

(1) A-lL B-1V, C-l, D-lI
(2) A-lL B-lIL C-IL D-1V
(3) A-IV, B-l1, C-L D-Ill
(4) A-lIL B-1V, C-l1, D-1

& www.allenoverseas.com
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List 11

electrically silent
B. QRScomplex Il Demllurﬂtm of
I:f\\l, vegtricles.
C. Twave 1. Depolarisation of
atna.
D. T-Pgap IV. Repolarisation of
entricles.

Choose the comectanswer from the options given

List 1T

Excess secretion of
cortisol, moon face &
hyperglycemia
Hypo-secretion

and stunted growth.
Hyper secretion

of thyroid hormone &
protruding eve balls.
Excessive secretion
of growth hormone.

Choose the correct answer from the options given

| Comtd..

| Bahrain
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Given below are iwo statements
Statement 1 : Mitochondria and chloroplasts are
both double membrane bound organelles.

Statement 11 : Inner membrane of mitochondria
is relatively less permeable, ns compared to
chloroplast,
Inlh:-'iig_]uunhcabm--:smtﬂnenmcmtlwuml
appropriate answer from the options given below :
(1) Statement 1 is incorrect but Statement 1l is
cormect.

Both Statement | and Statement 1l are correct.

Both Statement | and Statement 11 are
ncormect.

(2)
(3}
(4)

lﬁlammcm | is correct but Statement 11 is
meormect.

Regarding catalytic cycle of an enzyme action,
select the correct sequential steps :

A.  Subsirate enzyme complex formation.

B.  Free enzyme ready to bind with another
substrate.

C.  Release of products.

D. Chemical bonds of the substrate broken.

E. Substrate binding to active site.

Choose the correct answer from the options given
below :

(1) EED.C,B.A
() EAD,CE
(3) AE,B,D.C
4y B.A.C.D.E

e e N

93  Match List I with List I1 ;

51 English |

UAE

List 1 List I

A. ¢ Unicellular gl lar . Salivary glands
epithelium {'?ﬁj

B. Compound epithe im)ll. Pancreas

C. Multicellular 1. Goblet cells of
glandular epithelium alimentary canal

D. Endocrine glandular V. Moist surface of
epithelium buccal cavity

Choose the correct answer from the options given
below :

(1) A-lI, B-1, C-1V, D-1l

(2) AL RBL C-IL D-IV

(3) AV, B-III, C-I, D-11

(4) A-II, B-IV, C-1, D-lI

ALLEN NEET (UG) 2024

Set S1
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194 Choose the correct statement given below

regarding juxin medullary nephron

(1) Juxta medullary nephrons outnumber the

cortical nephrons.

(2) Juxta medullary nephrons are located in the

columns of Bertini.

{31 Renal corpuscle of juxta medullary nephron
lies in the outer portion of the renal medulla.

(4) Loop of Henle of juxta medullary nephron

runs deep it medulla.

Given below are two siajiemenis ;

Statement I : Bone marrow is the main lymphoid
organ where all blood cells including lymphocytes
are produced.

Statement II : Both bone marrow and thymus
provide micro environments for the development

and maturation of T-lymphocyies,

Inthe light ofthe above statements, choose the most

appropriate answer from the options given below :

(1) Statement | is incorrect but Statement 1l is

correct.

{2) BothStatement | and Statement [l are correct.

(3)

Both Statement | and Statement 11 are

ineormect.

(4) Statement 1 is correct but Statement 1 is

incorrect.
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of cockroach.
List 1 e List 11

A. The structures usgd) I, Gizmnd
for storing of I'm:-?.ai'-,j)

B. Ring of 6-8 blind Il. Gastric
tubules nijunr.*i'it'li"l-il!rf Cacca
foregut and midg!.ll. I )

C. Ring of 100-150 yellow  Ill. Malpighian
coloured thin m) tubules
filaments at juncioh of
midgut and hindgit

D. The structures used CI) IV. Crop
for grinding the @i

Choose the comrect answer from the options given
below : ul..l'::i

(1) A-lIL, B, C-IMID-I
@) AV, BIL CfED-
(3) AL B-IL C-IIED-IV
@ AV, B, c-Af

Given below are tements :
Statement I : Thesgercbral hemispheres are

197
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{wo siatements
se's competitive exclusio

1':1-9 closely related specie
{
)

198 Given below arel
Statement 1 3 Gau
principle states that

competing r:yiﬂer |.

indefinitely

Statement 11 : Acn;'f’
duringcompetition. t

FESOUrces carm cxig

i g 1o Gause’s principlg
ferior will bcclimh!_m

i i limiting,~
This may be true if re: es are
In the light of the a statements, choose the
correct answer from [ oplions given bel_nw:
(1) Statement | is false but Statement [ is true
(2) Both Statement Staternent IT are true.
Statement [ are false

{3) Both Statement

(4) Statement | 51 Statement 1 is false

=
199 Match List 1 with Lisg# :

i List 11
List I I
A. RNA pﬂlymrumll[mjl. snRNPs
B. Termination o
transcription l”} 1l. Promotor
C. Splicing of Exons W) 101. Rho factor
r.'-'1 IV. SnRNAs, tRNA

. TATA box 4 .
Choose the correct nnﬂgr from the options gives
below : |
(1) A-IV, B-1II, C-1,

I
(2) A-l, B-IV, C-1, %l
(3) A-, B-11, C-IV. -
(4) A-III, B-1V, C-1, D-II
Identify the correct (A), (B), (C), (D) wid
respect 1o 5pem1amg=mis_

i

200

connected by n:rgg tract known as corpus
GEL I s 1
Al Lot \ L Ty ) F3H
Statement II : Thelbrain stem consists of the H L
medulla oblongata, pons and cerebrum. o (B) lltﬁ i‘ﬂ : © Stk
In the light of the above statements, choose the i T _l. Cd.ii
most appropriate ansWwer from the options given Androgens . Ty Factors
below : N S o l
F o anmmn{spu—nm:ih m
(1) Statement [ is ncorrect but Statement I1 is
; 1ﬂ spermatogencsis:
(3) Both Statement I and Statement II are SpErmiogencsis
incorrect. (3) ICSH, Interstitial cells, Levdig cells,
: . spermiogenesis.
{q] Statement | 15 correet but Statement 11 15 (_4] FSH. Sertoli mils‘ ]..-E-!I'dig “us‘
incorrect. spermatogenesis.
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